RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Approving a Christmas Bonus for Employees of the Executive Branch, Judicial Branch and the Legislative Branch including all Appointed and Elected Officials of the three Branches)

RESOLUTION NO. 10-477

1	WHEREAS,	the Tohono O'odham Legislative Council is vested with the power "to manage any					
2		funds within the exclusive control of the Tohono O'odham Nation" (Constitution of					
3	:	the Tohono O'odham Nation, Article VI, Section 1(d)(2)); and					
4	WHEREAS,	the Tohono O'odham Nation (the "Nation") has prepared a proposal for a Christmas					
5		Bonus to each employee of the Executive Branch, Judicial Branch and the Legislative					
6		Branch including all Appointed and Elected Officials of the three Branches based on					
7		years of service to the Nation; and					
8	WHEREAS,	for the purpose of this legislative action, a Christmas Bonus is defined as a sum of					
9		money granted to an employee in addition to a regular pay; and					
10	WHEREAS,	it is proposed that, as of December 1, 2010, employees with a year or more of service					
11	i.	to the Nation shall receive \$500.00, employees with less than a year of service to the					
12		Nation shall receive \$250.00, and employees hired on or after December 1, 2010 shall					
13		not be eligible to receive a Christmas Bonus; and					
14	WHEREAS,	the proposal was presented to the Legislative Budget and Finance Committee for					
15		consideration.					
16	NOW, THEREFORE, BE IT RESOLVED by the Tohono O'odham Legislative Council that it hereby						
17		approves a Christmas Bonus for employees of the Executive Branch, Judicial Branch					
18		and the Legislative Branch including all Appointed and Elected Officials of the three					
19		Branches.					
20	BE IT FURTI	HER RESOLVED by the Tohono O'odham Legislative Council that this payment be issued					
21		on the date of December 17, 2010.					
22	BEIT FURTI	HER RESOLVED by the Tohono O'odham Legislative Council that this payment be issued					
23		with the following criteria:					
24		1) Current employees and officials with a year or more of service to the Nation as					
25		of December 1, 2010 shall be eligible to receive \$500.00.					
26		2) Current employees and officials with less than a year of service to the Nation as					
27		of December 1, 2010 shall be eligible to receive \$250.00.					
28		3) Current employees hired on or after December 1, 2010 shall not be eligible to					
29		receive a Christmas Bonus.					

RESOLUTION NO. 10-477 (Approving a Christmas Bonus for Employees of the Executive Branch, Judicial Branch and the Legislative Branch including all Appointed and Elected Officials of the three Branches) Page 2 of 3 BE IT FURTHER RESOLVED that the Tohono O'odham Legislative Council appropriates from FY 1 2011 General Fund Surplus a total amount of \$1,004,589.57 in accordance with the 2 3 following estimated schedule: **Number of Employees Amount** 4 Branch 5 Executive 1,113 \$900,673.20 Legislative 38 27,460.19 6 7 Judicial <u>95</u> 76,456.18 1,246 8 **Total** 1,004,589.57 BE IT FINALLY RESOLVED by the Tohono O'odham Legislative Council that the Tohono O'odham 9 Nation Chairman, Vice Chairman, and any designated officials are authorized to 10 execute this resolution, provided that any amendments affecting the funds or funding 11 levels shall be submitted for prior approval by the Tohono O'odham Legislative 12 13 Council. The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the <u>06TH Day</u> 14 of DECEMBER, 2010 at a meeting at which a quorum was present with a vote of 1,523.85 FOR; 15 1,071.65 AGAINST; <u>-0- NOT VOTING</u>; and [02] ABSENT, pursuant to the powers vested in the Council 16 by Article VI, Section 1 (d)(2) of the Constitution of the Tohono O'odham Nation, adopted by the 17 Tohono O'odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant 18 Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 19 20 18, 1934 (48 Stat. 984). 21 22 TOHONO O'ODHAM LEGISLATIVE COUNCIL 23 24 25 26

Verion M. Jose, Legislative Chairman

day of Down 2010

Evonne Wilson, Legislative Secretary day of *Milimbur*, 2010.

32 33 34

35 36

ATTEST:

RESOLUTION NO. <u>10-477</u> (Approving a Christmas Bo	nue for Employage of the	Evecutive Branch India	ial Dranch and
Legislative Branch including			
Page 3 of 3	, an appointed and Elected	omenus of the three brus	icircs,
	44. 18 14. 41 . 8	m	m. I Ol. 3
Said Resolution was submit Nation on the da	tted for approval to the on	iice of the Chairman of th	e Tonono O'od
pursuant to the provisions	of Section 5 of Article VII c	of the Constitution and w	ill become effe
upon his approval or upor			
submittal.	•		
	TOHONO O'C	ODHAM LEGISLATIVE CO	UNCIL
	Verlo	n $\log 10$	
	Verlan M. Ia	se, Legislative Chairmaı	
	verion in. jo		•
		•	
·V	. 11	. Dene da-	
[\(\)] APPROVED	on the <u>/ U</u> d	lay of <u>Deech</u> , lock, <u>L</u> .M.	2010
[] DISAPPROVED	at /0/3 Co'cl	lock. L.M.	
	$\lambda \lambda \lambda$	Λ Λ	
			_
	NED NORRIS, J		
	TOHONO O'OD	HAM NATION	
	45		
Returned to the Legislative	Secretary on the $\frac{1}{2}$	_day of	
100000000000000000000000000000000000000), at <u>/0:57</u>) o'clock,	0 M	
	7, at o clock,	₩.	
Q 112			
Warrellales			
Evonne Wilson, Legislative	Secretary		

ACTION: APPROVING A CHRISTMAS BONUS FOR EMPLOYEES OF THE EXECUTIVE BRANCH, JUDICIAL BRANCH AND THE LEGISLATIVE BRANCH INCLUDING ALL APPOINTED AND ELECTED OFFICIALS OF THE THREE

BRANCHES

MOVED: COUNCILWOMAN CYNTHIA MANUEL

SECOND: COUNCILWOMAN FRANCES MIGUEL

DATE: DECEMBER 06, 2010

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 198.7	1. WAVALENE ROMERO (Nicholas Jose)	99.35		х		Х
	2. MARY LOPEZ	99.35		X		·
SELLS	1. KIMBERLY MULL	224.80		x		
449.6	2. EVELYN B. JUAN MANUEL	224.80		x		
SCHUK TOAK	1. FRANCES B. CONDE (Absent)	79.50		х		
159.0	(Fredrick Jose) (Present) 2. LINDA PARLEY (Agnes Joaquin)	79.50		х		
SAN XAVIER	1. FELICIA NUÑEZ	102.35	x	:		
204.7	2. OLIVIA VILLEGAS-LISTON (Eugene Enis)	102.35		X		
SAN LUCY	1. LORRAINE EILER	93.55	х			
187.1	2. GLORIA RAMIREZ	93.55	X			
PISINEMO	1. CHESTER ANTONE (Tony Murrietta)	92.25	х			x
184.5	2. EDWARD MANUEL (Gerald Fayuant)	92.25	х			
HICKIWAN	1. MICHELLE ORTEGA	87.25	x			
174.5	2. SANDRA ORTEGA	87.25	X	·		
GU VO	1. GRACE MANUEL	103.15	х			
206.3	2. PAMELA ANGHILL (Angela Ortiz)	103.15	X			
GU ACHI	1. TIMOTHY L. JOAQUIN	115.05	Х			
230.1	2. CYNTHIA E. MANUEL (Louis J. Johnson)	115.05	Х			
CHUKUT KUK	1. ETHEL GARCIA	138.50	Х			
277.0	(Sara Mae Williams) 2. VERLON M. JOSE ()	138.50	Х			
BABOQUIVARI	FRANCES MIGUEL (Roberta Harvey)	162.0	x			
324.0	2. FRANCES G. ANTONE (Vernon Smith)	162.0		X		
	TOTAL	2,595.50	1,523.85	1,071.65	-0-	[02]